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4 The macro economy (AS Level)

al Aggregate Demand (AD) and Aggregate Supply
(AS) analysis

the shape and determinants of AD and AS
curves: AD=C + |+ G + (X- M)

the distinction between a movement along and
a shiftin AD and AS

the interaction of AD and AS and the
determination of the level of output, prices and
employment

b) Inflation

the definition of inflation; degrees of inflation
and the measurement of inflation; deflation and
disinflation

the distinction between money values and real
data

the causes of inflation (cost-push and demand-
pull inflation)

the consequences of inflation

c) Balance of payments

the components of the balance of payments
accounts (using the IMF/OECD definition):
current account; capital and financial account;
balancing item

meaning of balance of payments equilibrium
and disequilibrium

causes of balance of payments disequilibrium
in each component of the accounts
consequences of balance of payments
disequilibrium on domestic and external
economy
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4. The macro sconomy (AS Level) cont.

dl Exchange rates

definitions and measurement of exchange rates
— nominal, real, tfrade-weighted exchange rates

the determination of exchange rates — floating,
fixed, managed float

the factors underlying changes in exchange
rates

the effects of changing exchange rates on the
domestic and external economy using AD,
Marshall-Lermer and J curve analysis

depreciaton/appreciation
devaluation/revaluation

gl The terms of trade

the measurement of the terms of trade
causes of changes in the terms of trade
the impact of changes in the terms of trade

fl  Principles of absolute and cormparative
advantage

the distinction between absolute and
comparative advantage

free trade area, customs union, monetary
union, full economic union

trade creation and trade diversion

the benefite of free trade, including the trading
possibility curve

gl Protectionizm

the meaning of protectionism in the context of
international trade

different methods of protection and their
impact, for example, tariffs, import duties and
guotas, export subsidies, embargoes, voluntary
export restraints (VERs) and excessive
administrative burdens {red tape’)

the arguments in favour of protectionism

al Types of policy: fiscal policy, monetary policy,
and supply side policy

instruments of each policy

bl Policies to correct balance of payments
disequilibrium

assessment of the effectveness of fizcal,
monetary and supply side policies to correct a
balance of payments disequilibrium

expenditure-reducing and expenditure-
switching

¢l Policies to correct inflation and deflation

assessment of the effectiveness of fiscal,
monetary and supply side policies to correct
inflation and deflation

For more guidance, join

https://www.facebook.com/groups/hbdumerkhan/

R R T RT R LG O LTE IO LS R R R QG L LTE LTS LE LS R R RS LG LT LTS LE L LS RO RS RS LS L @



https://www.facebook.com/groups/hbdumerkhan/

20 2 e e e e e e A e A A A A A A e A e A e e e e e A AR AR R R R @

As macroeconomics MCQS

Economics notes As

Past papers
Topicals
Books

Revision channel 1

Revision channel 2

Recent past paper questions

AD/AS

1.How will an increase in government spending on infrastructure affect aggregate
demand and aggregate supply?

aggregate demand aggregate supply
A decreases increases
B increases decreases
C increases increases
D stays the same increases O/N19/11/20

2 The diagram shows the original aggregate demand curve, AD1, and original
aggregate supply curve, ASi. The original equilibrium is at X.

I 3

AS,
price AS,
level

P: f-———————=
P1 __________ 1 1
¢
Lo
P
bl AD,
1 1
© Y2 Y, 0/N19/12/20
real GDP

What would cause the new equilibrium to be at Y?
A an increase in export prices

B an increase in government spending on education
C an increase in import prices

D an increase in the money supply
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https://drive.google.com/open?id=11j-xR0OgjTWS1oPf4KaKkZ5nBa6chNJ8
https://drive.google.com/open?id=1hDyYem6ttIKTdeybqXLwa3UVF0d8iu-X
https://drive.google.com/open?id=1RI1eMYlwaekfEonG7Pq9JKuCH3BdL804
https://drive.google.com/open?id=1i0yJ_SWPN9d9n8Xe7eRWBsAsDGKjxh33
https://www.youtube.com/user/EconplusDal
https://www.youtube.com/channel/UCYnCkdiFJgxJ7BW9XN7m6Cw
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3 The diagram shows the original aggregate demand curve, ADs1, and the original
aggregate supply curve, AS:. The original equilibrium is at X.

What would be the new equilibrium if there is an increase in private sector investment

and an increase in government spending on training courses?
'

price
level

(9]
real GDP 0/N19/13/20

4. 4 What would cause a shift in the short-run aggregate supply curve but not the
long-run aggregate supply curve?

A advances in technology

B a change in the money wage rate

C emigration of people of working age

D gross investment exceeding depreciation M/J19/11/20

5 How can a change in consumption that increases unemployment be illustrated on
an aggregate demand and aggregate supply diagram?

effect on the aggregate demand curve effect on the aggregate supply curve
A movement down the demand curve shift outwards
B movement up the demand curve shift inwards
C shift inwards movement down the supply curve
D shift inwards movement up the supply curve
M/J19/12/20
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6 The diagram shows an aggregate supply curve, and aggregate demand curves.

' Y
AS

price
level

AD,

AD:

]

O national income

What would cause a decrease in aggregate demand from ADito AD2?
A an increase in income tax

B an increase in the price of electricity

C an increase in the tax on goods

D an increase in wage rates F/IM19/12/23

7 The diagram shows an economy’s aggregate supply curve

A

price AS

level

=

O output

What is likely to cause the curve to shift to the left?

A an increase in investment due to a reduction in interest rates

B an increase in the marginal rate of income tax

C improvements in technology

D schemes to increase the geographical mobility of labour O/N18/11/20
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8.The diagram shows a shift in the aggregate demand curve, from AD1 to AD2

price level

AD,
AD,

L

O
real output

What might have caused this shift?
A afall in the budget surplus

B afall in the trade surplus

C ariseinimports

D arise in the interest rate O/N18/12/19

9 An economy has an equilibrium level of real output Y, but wishes to move towards
its full employment level of real output YFE.

A
price AS
level
i
i
i i
| D |
© Y Yee
real output

Which combination of policy measures is most likely to achieve this wish without
high inflation?

A decreasing interest rates and raising investment in new technology

B decreasing the money supply and raising corporation tax rates

C increasing interest rates and raising income tax thresholds

D increasing the money supply and raising welfare benefit payments 0O/N18/12/19
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10 In its 2016 budget statement, the South African government proposed stimulating
business activity by the removal of regulations. It also announced that government
expenditure was

expected to grow by 7.1%.

The diagram shows aggregate demand (AD) and aggregate supply (AS) for the South
African economy. X is the original equilibrium point.

Which new equilibrium would result from the changes?

price
level

AD

real GDP
M/J18/11/19

11 The diagram shows short-run aggregate supply and demand in an economy, where
the initial equilibrium is at S.

A

SRAS,

price level SRAS,
SRAS,
T
AD,
AD,

AD,

O real output

What is most likely to cause a movement from Sto T?

A an increase in consumer expenditure and an increase in productivity

B an increase in consumer expenditure and a reduction in imports

C an increase in education and training and an increase in income tax

D an increase in the exchange rate and a reduction in corporation tax  M/J18/12/19
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12 What is both a valid statement and consistent with the features of the diagram?

A AS
price
level
AD
© real output

A AS cannot be increased beyond some level of real output.

B Consumption is a component of AD and is lower when the general level of prices is
lower.

C Investment is a component of AS and is independent of the general level of prices.
D The greater the demand for a country’s exports, the lower will be AD. M/J18/13/19

13 An aggregate demand curve slopes downwards from left to right.

One reason for this is that a reduction in the average price level will lead to
A adecline in the country’s international competitiveness.

B an increase in interest rates.

C an increase in the real value of money balances.

D the expectation of further price falls. F/IM18/12/19

14.The diagram shows the output of an economy.

AD AS

price
lewvel

(8] Y
real GDP

What would be the effect of a decrease in net exporis?

agﬁ?{:ﬁ;‘“ price level real GDP
A shift decraasa unchanged
B shift unchanged decrease
c unchanged increase unchanged
D unchanged unchanged decrease
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Inflation

1.What always happens when there is an increase in the Consumer Price Index?
A an increase in consumer expenditure

B an increase in the cost of living

C areduction in living standards

D areduction in real disposable income O/N19/11/26

2 The table shows the annual percentage increases in a country’s consumer prices
index (CPI).

year % change
2015 8.3
2016 6.0
2017 6.0
2018 1.0

2.Which statement is correct?

A Consumer prices, on average, fell throughout the period.

B Consumer prices, on average, remained the same in 2016 and 2017.

C The general level of consumer prices was at its highest in 2015.

D The general level of consumer prices was at its highest in 2018.  O/N19/12/22

3 The graph shows the rate of inflation for seven countries for 2015 and 2016.

3 key
[] 2015
2 Il 2016

Tm L Ix

Costa ' Ecuador ' India Japan Malaysia II’\.ﬂ1auritius ' T'hailand
Rica

What can be concluded from this graph?

A Prices in Costa Ricarose in 2015 but remained constant in 2016.

B Prices in Ecuador and Mauritius were lower in 2016 than in 2015.

C Prices in India and Malaysia remained constant in 2016 and 2015.

D Prices in Thailand and Japan were lower in 2016 than in 2015. 0O/N19/13/21
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4 What must be true if an economy is experiencing inflation?
A Aggregate demand is increasing.

B Aggregate supply is decreasing.

C The interest rate is increasing.

D The real value of money is decreasing.  O/N19/13/25

5 The diagram shows aggregate supply and aggregate demand curves for an
economy.

A

general SRAS,

price

level SRAS,

Y
AD,
AD,
O -

real output

What would cause a movement from Xto Y?

A a decrease in income tax and in the cost of production

B a decrease in interest rates and increase in the cost of production

C an increase in income tax and in the cost of production

D an increase in interest rates and decrease in the cost of production M/J19/11/24

6 The table shows changes in the population, price level and Gross Domestic Product
(GDP) of a country.

year 1 year 2
population (millions) 50 55
Consumer Price Index 100 120
nominal GDP (% billions) 400 480

What happened to real GDP and real GDP per head between year 1 and year 2?

- real GDP
real GDP per head
A no change fell
B no change rose
C rose tell
D
rose rose M/J19/11/25
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7 An economy is experiencing a period of deflation.
What must be happening?

A The average price level is falling.

B The output of the economy is falling.

C The rate of inflation is falling.

D The real value of money is falling. M/J19/12/25

8 The diagram illustrates what happens to aggregate demand (AD) and aggregate
supply (AS) in an economy during a year.

AS

general
price level

P

P

real output

What explains the rise in the general price level?

A boom in consumer spending

B higher taxes on company profits

C reduction in government-financed projects

D rising costs of raw materials M/J19/13/18

9 How is arate of inflation that is lower than that expected likely to affect lenders and
borrowers in an economy?

effect on lenders effect on borrowers
A beneficial beneficial
B beneficial harmful
C harmful beneficial
D harmful harmful

M/J19/13/19
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10 What is likely to be the least effective store of value during a period of rapid

inflation?

A antique furniture
B fixed interest government securities

C houses

D shares of industrial companies

M/J19/13/26

11 The diagram shows aggregate demand (AD) and aggregate supply (AS) in an
economy. Thi initial equilibrium is at point E.

price P,
level o

P,|

O

AS,

AD

national output

What causes shifts in the aggregate supply curve from AS to AS1 and from AS to

AS2?
shift from AS to AS; shift from AS to AS;
A change in AD from E to W change in AD from E to X
B increase in price level from P to P decrease in price level from P to P,
c increase in productivity of capital fall in the returns to capital
D shortages of skilled labour improvements in training of workforce
F/IM19/12/27
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12 The diagram shows the change in an economy’s rate of inflation over 4 years.

A

inflation rate
(%)

3 i

year

What happened to the general price level over the 4 years?

year 1 year 2 year 3 year 4
A constant constant fell constant
B rose constant fell fell
Cc rose rose rose constant
D rose rose rose fell

O/N18/11/21

13 The table shows the consumer price index (CPI) and national output at current
prices in 2014 and 2015 for an economy.

national output
year CPI at current prices
2014 100 100
2015 120 110

What can be concluded when 2015 is compared with 2014?
A Money national output decreased by 10%.
B Money national output increased by 20%.

C Real national output fell.
D Real national output increased.

O/N18/12/20

14 A country experiences a fall in the consumer price index.
What must be associated with such a fall?
A a decrease in average wage rates

B a decrease in borrowing

C adecrease in consumers’ expenditure

D a decrease in the cost of living

O/N18/13/21
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15 What would be certain to cause a fall in a country’s cost of living?
A afall in real incomes

B afall in the inflation rate

C a negative inflation rate

D areduction in direct tax rates M/J18/11/20

16 The table gives figures for household spending in the UK economy between 2008

and 2010.

nominal household real household
consumption spending | consumption spending
(£ million) (£ million)
2008 878024 878024
2009 808242 846961
2010 900204 855302

What can be concluded from the figures?

A All households bought more goods and services in 2010 than in 2008.
B Households saved more in 2008 than in 2010.

C Living standards were lower in 2009 than 2010.

D The rate of inflation was higher in 2010 than in 2009.

M/J18/11/21

17 The diagrams show the inflation rate over time in four countries.
Which country experiences a falling cost of living throughout the period?

A B
! b
inflation inflation
rate rate
+ +
EEE——— ———
o time O time
C D
3 3
inflation inflation
rate rate
+ +
=
o time O Nime
— - M/J18/12/20

18 A government statistical office measured changes in income from employment,
pensions and benefits, then subtracted income tax and welfare contributions and
adjusted for inflation.

What did the final figure represent?

A changes in nominal income

B changes in nominal net earnings

C changes in real disposable income

D changes in real gross earnings M/J18/12/21
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19 The average consumer divides his expenditure between food, clothing,
accommodation and transport intheratio2:1:4: 3.

During the course of a year, the price of food falls by 2%, the price of clothing
increases by 4%,

the price of accommodation increases by 10% and the price of transport remains
constant.

Assuming that the weights of a price index reflect the expenditure of the average
consumer, what

is the increase in the index over the year?

A 2.5%B 4% C 10% D 12% M/J18/13/20

20 In June 2016 the UK voted to leave the European Union. The table shows what
happened to the value of the pound sterling before and after the vote.

June Sept

£1=51.48 £1=251.32

The UK is a major trading nation.

What is likely to be the short-term impact of the changes in the value of the pound
sterling on the UK economy?

A increased disinflation

B increase in cost-push inflation

C more purchasing power of money

D reduced demand-pull inflation  M/J18/13/22

21 The table shows the CPI rate of inflation (%) in the United States from 2006 to 2013.

2006 2007 2008 2009 2010 2011 2012 2013

25% | 41% | 01% | 2.7% 1.5% | 3.0% 1.7% | 2.0%

What can be concluded from the figures about the period 2006 to 2013?
A There was one year of constant prices.

B There were three years of deflation.

C There were only four years of inflation.

D There were eight years of rising living costs. F/IM18/12/22

22 The table shows a country’s consumer price index for March and April 2015.

consumer
price index

MMarch 2015
April 2015

151.3

1486

Which statement correctly describes what happened between these two months?
A There was a decrease in the annual rate of inflation.

B There was a decrease in real interest rates.

C There was an increase in the purchasing power of money.

D There was an increase in the standard of living. O/N17/11/20
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23 What would be likely to increase inflation in an economy?
A an increase in consumer saving

B an increase in interest rates

C an increase in labour productivity

D an increase in taxes on imports O/N17/11/21

24 The table shows the retail prices index for four countries for years 2 and 3.
(Year 1 index = 100 for all countries.)
Which country had a higher rate of inflation in year 2 than year 3?

country year 2 index year 3 index
A 100 115
B 110 132
C 120 144
D 130 150 O/N17/12/20

25 What would be likely to decrease inflation in an economy?
A a decrease in consumer saving

B a decrease in unemployment

C an increase in labour productivity

D an increase in taxes on imports O/N17/13/20

26 What is the average weighted price change illustrated by the table below?

product pe;;ir;]t?gs Fc))fci)gi:;;:ne price 0c/ctjange
P 10 +8
Q 15 +6
R 25 +4
S 50 -9
A-1.8%B 4.5% C 7.2% D 9.0% O/N17/13/21

27. A government succeeds in changing a current account deficit into a current
account surplus.

Why might this current account surplus increase the country’s inflation rate?

A It raises aggregate demand.

B It raises production costs.

C It reduces the exchange rate.

D It reduces the money supply. M/J17/11/21

28 Which statement about changing price levels is correct? M/J17/12/20
A Anyone on afixed income has rising real income during deflation.

B Government revenue from indirect taxes falls during inflation.

C Producers prefer deflation to inflation.

D Savers prefer index-linked savings when there is deflation rather than inflation.
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29. Which combination of events is most likely to cause inflation?

exchange rate direct taxes money supply
A falling falling falling
B falling falling rising
C rising rising rising
D rising rising falling

M/J17/12/21

30. The table shows the year-on-year percentage changes for a country’s consumer

price index from 2009 to 2015.

year % change
2009 18.0
2010 1.7
2011 8.6
2012 4.6
2013 4.9
2014 6.1
2015 4.5

Which statement about the price level is correct?

A It fell over the first half of the period.

B It was at its highest at the start of the period.

C It was at its lowest at the end of the period.

D It was at its lowest at the start of the period. M/J17/13/21

31 Relative weights are used in calculating the index of retail prices to reflect the
different

A amounts of money spent by consumers on each good.

B levels of prices for each good.

C numbers of people buying each good.

D rates of change in price of each good over time. F/M17/21
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32 The diagram shows the possible relationships between the degree of
independence of the central bank and the level of inflation.

Which relationship suggests that central bank independence is an effective way to
reduce inflation?

A
A B

annual /

inflation

rate c
/ ’

least most

o

degree of central
bank independence
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1.B

2.D

3.A

4.D

5A

6.A

7.A

8.A

9.B

10.B

11.D

12.D

13.C

14.D

15.C

16.D

17.D

18.C

19.B

20.B

21.D

22.C

23.D

24.D

25.C
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26.A

27.A

28.A

29.B

30.D

31.A

32.D
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Balance of Payments

1 What is most likely to lead to a persistent surplus in a country’s current account of
its balance of payments?

A alow domestic savings rate

B an undervalued exchange rate

C highly protectionist policies by other countries

D low investment income from abroad O/N19/11/22

2 A foreign government pays a UK university to educate its students.How would this
be recorded on the balance of payments current account of the UK?

cu{r;a;g:)gﬁz?#nt money flows
A secondary income inflow
B secondary income outflow
C trade in services inflow
D trade in services outflow

O/N19/12/25

3 Which change is most likely to result in a worsening of a country’s balance of
payments?

A areduction in remittances from citizens who work abroad

B arise in domestic rates of direct taxation

C an expansion in the economy of a major trading partner

D an increase in domestic interest rates O/N19/13/24

4 The table shows selected balances from a country’s balance of payments account in
2016.

$US

billions
trade in goods =30
trade in services +10
primary income balance +10
secondary income balance -8
capital & financial flow +15

What was the country’s current account balance in 20167
A —$3 billion B =$10 billion C —$18 billion D —$20 billion M/J19/11/26

5 What is not an item in a country’s current account of its balance of payments?
A exports of primary commodities

B money received from banking services

C overseas investment
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D profits sent back by companies overseas M/J19/12/21

6 A British citizen buys a house in the US which he rents to American citizens in order

to receive an
income for himself.

Where will the initial purchase and then the rent be recorded on the UK balance of

payments?
initial purchase rent
A capital account export current account import
B capital account import current account export
C current account export capital account import
D current account import capital acc:ouht export

M/J19/12/26

7. An Australian family purchases a holiday to New Zealand and an Australian mining
company sells coal to China.
Four students, A, B, C and D, are asked where these transactions appear in the
current account of Australia’s balance of payments.

Which student is correct?

Ngﬂiggglgd coal to China
A service export good export
B service export good import
c service import good export
D service import good import
M/J19/13/25
8 The table shows selected items of the balance of payments of a country in
2015.
3 billions
net portfolio investment +40
trade in goods -100
trade in services +50
interest, profit and dividends (primary income) +10
current transfers (secondary income) +10
transactions in financial assets -10

What was the country’s current account balance in 2015?
A —$40 billion B —=$30 billion C —=$20 billion D =$10 billion

O/N18/11/22
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9 What is likely to explain an increase in the deficit on a country’s current account of
the balance of payments?

A an increase in government foreign aid to countries abroad

B an increase in government tax rates

C an increase in other countries’ exchange rates

D an increase in the proportion of income saved by the country’s residents

O/N18/11/23

10 Which item is not included in the current account of a country’s balance of
payments?

A exports of services

B interest on foreign loans

C profits from foreign investments

D the purchase of foreign assets O/N18/12/22

11 The balance of payments accounts are arranged in the following way.Which
total is the current account balance?

balance of trade in goods

+ balance of trade in services = total A‘

+ net income (primary income) = total B

+ net transfers (secondary income) | = total C

+ capital balance =total D

financial balance

errors and omissions

O/N18/13/22

12 The table shows trade in goods and services for a selection of countries in
2005 and 2014

trade in goods and services (US$ millions)
2005 2014
exports imports exports imports
Argentina 46892 34797 82026 79194
Brazil 133055 96611 264063 318799
Ecuador 11480 11851 28935 30215
Mexico 230369 245100 418952 433977

What can be concluded about the balances of trade in goods and services from the
table?

A Argentina had a larger surplus in 2014 than in 2005.

B Brazil had a surplus in 2005 and a deficit in 2014.

C Ecuador had a deficit in 2005 and a surplus in 2014.
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D Mexico had a larger deficit in 2005 than in 2014. M/J18/11/22

13 The demand for a country’s exports is price-elastic.
What will be the effect of introducing export subsidies on its balance of trade and on
its terms of trade?

balance of trade terms of trade
A improve improve
B improve worsen
cC worsen improve
D worsen worsen
M/J18/11/27

14 The table shows all of the items on the current account of a country’s balance of
payments.

$ million
exports of goods 143
imports of goods 156
exports of services 75
imports of services 72
net transfers +5
What is the value of the current account balance?

A $5 m deficit

B $10 m deficit

C $13 m deficit

D $3 m surplus M/J18/12/22

15 China had a US$155 billion current account surplus in 2012.

Which combination of policies might the Chinese Government use to reduce the
surplus?

A decrease income tax and raise the value of the Chinese currency, the Yuan

B increase income tax and lower the value of the Chinese currency, the Yuan
Cincrease subsidies to Chinese firms and reduce income tax

D increase tariffs on imports and increase income tax  M/J18/12/29
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16 The table shows an extract from a country's current account of its balance of
payments accounts

credits $ million
export of goods G
export of services 204465
total exports of goods and services 511275
debits $ million
import of goods 417006
import of services 126 369

total imports of goods and se{rvices 543375

balance $ million
trade in goods -110196
trade in services H
total trade in goods and services -32100

What is the value of export of goods, G, and what is the value of the balance of trade
in services, H?

export of goods, G trade in services, H
$ million $ million
A 306810 78096
B 306810 142 296
C 715740 78096
D 715740 142 296
M/J18/13/21

17 If an economy experiences a persistent balance of trade deficit, it may choose to
place tariffs on

imports of manufactured goods.

When might the use of tariffs solve a balance of trade deficit in the long term?

A when an economy imports a sustainable amount of raw materials

B when an economy is experiencing a high rate of inflation

C when the demand for imports is inelastic

D when the supply of domestically produced goods is elastic M/J18/13/29
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18 A country has a deficit on the current account of the balance of payments.
Which policy would be expected to increase the deficit?

A an appreciation of the exchange rate
B an increase in domestic productivity
C an introduction of import quotas

D arise in subsidies to domestic firms F/M18/12/29

19 What does the current account of the balance of payments include?
A government reserves and foreign aid

B government revenue and government spending

C imports and exports of goods and services

D inflows and outflows of trade and capital O/N17/12/21

20 When will a country’s balance of payments current account deficit be reduced?
A when it lowers tariffs on its imports

B when it raises its rate of income tax

C when it removes export subsidies

D when it revalues its currency O/N17/12/29

21 The diagram shows Greece’s trade position with the EU and Russia between 2005
and 2014.

60
Greek | . . key
trade 90 = e L sseseees imports from EU
$bn 404 . el e exports to EU
sod T e ==== imports from Russia
— e Xports to Russia
20_ e — — —
v—'-.'—.. e N fEm———
10_-. ____________ -
0 T T T T T

I | I |
2005 2006 2007 2008 2009 2010 2011 2012 2013 2014
What happened to Greek trade balances over this period?

balance with the EU balance with Russia

an increased deficit an increased surplus
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an increased surplus

a reduced deficit

o 0O o P

a reduced surplus

a reduced surplus

an increased deficit

a reduced deficit

O/N17/13/22
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Exchange Rate

1 An economy changes its exchange rate at time T.

balance 1
of trade
surplus
+
T .
0 | » time
| balance of trade
deficit

What does the J-curve diagram show happens at T and after T?

Marshall-Lerner
condition

exchange rate
change attime T

A devaluation does not apply
B devaluation applies
Cc revaluation does not apply
D revaluation applies

O/N19/11/25

2 The tables show changes over a period in the average prices of a country’s exports
and imports.
They are expressed as index numbers, with year 0 as 100.

index of export prices index of import prices

year 0 year 1 year 2 year 0 year 1 year 2

100 115 125 100 120 125

What is the change in the country’s terms of trade index between years 1 and 2?
A It improves by about 10%.

B It improves between 4% and 5%.
C It stays the same.

D It worsens between 4% and 5%.

O/N19/12/26

3 Which aim would be consistent with a government’s decision to buy its own
currency in foreign exchange markets?

A an appreciation under a freely floating exchange rate system

B an appreciation under a managed float exchange rate system

C a depreciation under a fixed exchange rate system

D a devaluation under a managed float exchange rate system O/N19/12/27
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4 An economy’s current account on the balance of payments is in surplus. The
exchange rate is revalued by the government. Assume the Marshall-Lerner condition

holds.

Which diagram shows the impact on the current account balance?

current A current
account § account
balance balance
surplus + surplus + \
8] = 8] -
lime time
deficit — deficit —
current C current
account § account
balance balance
surplus + surplus + /
8] 8]
time time
deficit — deficit —
L }

O/N19/12/29

5 What is the most likely consequence of an appreciation in the value of the Malaysian
ringgit?

A adecline in the level of unemployment in Malaysia

B afall in the rate of growth of the general price level in Malaysia
C areduction in the volume of imports into Malaysia

D an improvement in the Malaysian balance of trade in services 0O/N19/13/26

6 Under which conditions will an appreciation of a floating exchange rate cause the
current account of the balance of payments to worsen the most?

price elasticity of
demand for imports

price elasticity of
demand for exports

A 0.4 0.4
B 0.4 0.6
Cc 0.6 0.4
D 0.6 0.6 O/N19/13/27

7 An economy experiences cost-push inflation. Which combination of policies would
be best for the economy to use to reduce cost-push inflation?

exchange rate | supply-side policy

appreciate lower minimum wage

appreciate raise minimum wage

depreciate lower minimum wage

oombp»

depreciate raise minimum wage

O/N19/13/28
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8.What does the Marshall-Lerner condition state must be present for a depreciation of
a currency to cause an improvement in the current account balance?

A The price elasticity of demand for exports and the price elasticity of demand for
imports are both greater than one.

B The price elasticity of demand for exports and the price elasticity of demand for
imports are both less than one.

C The sum of the price elasticity of demand for exports and the price elasticity of
demand for imports is greater than one.

D The sum of the price elasticity of demand for exports and the price elasticity of
demand for imports is less than one. M/J19/11/27

9 Under a system of floating exchange rates, what determines the foreign exchange
value of a

currency?

A the overall supply of and demand for a currency on currency markets

B the purchasing power of the currency relative to the purchasing power of foreign
currencies

C the surplus or deficit on the balance of payments on current account

D the differential between domestic and foreign interest rates  M/J19/12/27

9 The current account of the balance of payments for Nigeria changed from US$899 m
in 2014 to US$ —15 763 m in 2015.

Assuming that nothing else changes, what is likely to be the impact in 2015 on GDP
and the

exchange rate in Nigeria?

GDP exchange rate
A falls appreciates
B falls depreciates
C rises appreciates
D rises depreciates |1 10n321

10 An Australian family purchases a holiday to New Zealand and an Australian mining
company sells coal to China.

Four students, A, B, C and D, are asked where these transactions appear in the
current account of Australia’s balance of payments.

Which student is correct?

holiday to .
New Zealand coal to China
A service export good export
B service export good import
Cc service import good export
D service import good import M/J19/13/25
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11 The diagram shows the value of the Nigerian naira against the US dollar between
June 2015 and June 2016.

A
naira per 260+ —
dollar
197
T -
June June
2015 2016

Which term is used for the change in the value of the nairain June 20167
A appreciation

B depreciation

C devaluation

D revaluation FIM19/12/21

12 The diagram shows the determination of the floating exchange rate between the
US$ and the UKE. D is the demand curve for pounds and S is the supply curve for
pounds. The initial equilibrium exchange rate is E.

exchange S

rate
($ per £)

quantity
of pounds

Which change might cause an increase in the UK exchange rate?

A a switch by US consumers from chocolate produced in the UK to chocolate

produced in the

us

B a switch in the destination of UK tourists from Africa to the US

C awheat crop failure in the UK leading to increased wheat imports from the US

D increased investment by US residents in financial and real assets in the UK
O/N18/11/24

13 A government wishes to raise the value of the external exchange rate of its
currency.

What should it do?

A discourage inward foreign direct investment

B raise interest rates

C raise the level of aggregate demand in the economy

D remove quotas on imported products O/N18/12/23

R R T RT R LG O LTE IO LS R R R QG L LTE LTS LE LS R R RS LG LT LTS LE L LS RO RS RS LS L @




20 2 e e e e e e A e A A A A A A e A e A e e e e e A AR AR R R R @

As macroeconomics MCQS

14 Country X conducts 60% of its trade with country Y and 40% of its trade with
country Z. The initial value of the trade-weighted exchange rate index of country X is
100.

What will be its new trade-weighted exchange rate index value if its currency falls in
value by 20% against the currency of country Y and rises by 10% against the currency
of country Z?

A84B90C92D 116 O/N18/12/24

15 In a country the Marshall-Lerner condition for an improvement in the trade balance
is satisfied in

the long run, but quantities of imports and exports are slow to respond to price
changes.

The government devalues its currency to reduce its trade deficit.

Which curve indicates the probable behaviour of the trade balance?

A A

trade
balance

Y

time OIN18/12/29

16 The US central bank lowers its interest rate. This has an effect on the exchange
rate of the US$.

The diagram shows the resulting changes in the demand for and supply of US$ in the
foreign exchange market.

h vV
exchange >

rate of US$

w
=z

O
guantity
of USS$

A change is shown by a move from a curve numbered 1 to a curve numbered 2.
What should curves W, X, Y and Z be labelled to show the effect of the interest rate
fall on the exchange rate?

W > hd =
o =a Sz | ()
=1 = S D= [
c S Sa [ >
D S Sa D> Dy

O/N18/13/23
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17 The table refers to a particular country.

index of import index of export
year prices prices
(2010 = 100) (2010 = 100)
2005 481 570
2015 1224 120.8

Which statement about the period 2005 to 2015 is correct?
A The balance of payments worsened.

B The current account balance improved.

C The exchange rate appreciated.

D The terms of trade fell. O/N18/13/24

18 A newspaper headline stated that the Australian car industry has been affected by
the strength of

the Australian dollar.

What would not be an effect caused by a strong rising Australian dollar?

A Reduced foreign demand for Australian cars caused increased unemployment.

B The price of exports of Australian cars became more expensive.

C The price of foreign competitive cars became less expensive.

D The price of imports of car parts became more expensive. M/J18/11/23

19 Following a long period of depreciation of the US$, both the US and UK monetary
authorities

raised their domestic interest rate.

What will happen to the value of the exchange rate of the US$ in terms of UKE?

A It will fall.

B It will remain unchanged.

C It will rise.

D The outcome is uncertain. M/J18/12/23

20 Country P exports goods and imports goods.

Export prices and import prices are set to an index of 100 in year 1. The table shows
corresponding prices indices for years 2 and 3.

year 2 year 3

export price index 120 132

import price index 110 121
Which statement is correct?

A It is not possible to say how the terms of trade changed without further information.

B The terms of trade improved between years 1 and 2, and improved again between
years 2

and 3.

C The terms of trade improved between years 1 and 2, and then remained unchanged
between

years 2 and 3.

D The terms of trade worsened throughout the whole period. M/J18/12/24
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21 In June 2016 the UK voted to leave the European Union. The table shows what
happened to the value of the pound sterling before and after the vote.

June Sept

£1=91.48 £1=191.32

The UK is a major trading nation.

What is likely to be the short-term impact of the changes in the value of the pound
sterling on the

UK economy?

Aincreased disinflation

B increase in cost-push inflation

C more purchasing power of money

D reduced demand-pull inflation M/J18/13/22

22 To what does the J curve effect directly relate?

A balance of payment effects caused by exchange rate changes

B exchange rate effects caused by balance of payment changes

C import expenditure effects caused by tariff changes

D trade creation effects caused by comparative advantage changes M/J18/13/23

23 Turkey can produce a good but also imports some of the good from Egypt. The
Turkish currency depreciates against the Egyptian currency.
How is this most likely to affect production of this good in Egypt and in Turkey?

production in Egypt production in Turkey
A decrease decrease
B decrease increase
C increase decrease
D increase increase F/B18/12/24

24 In spring 2011 the US$ exchanged for 81.6 Japanese yen.

In spring 2012 the US$ exchanged for 76.1 Japanese yen.

What would be expected to rise for the United States (US) as a result of this change?
A the level of unemployment

B the price of US exports sold in Japan

C the rate of imported inflation

D the volume of imports  SP16/01/24
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International Trade (TOT, comparative/absolute advantage and Protectionism)

1 The table shows the amount of good X or the amount of good Y that can be
produced by country R and country T if each uses all of their resources.

output of output of
good X good Y
country R 80 100
country T 20 80

What can be concluded from the table?

A Country R has an absolute advantage in producing good Y and a comparative
advantage in producing good X.

B Country R has an absolute advantage in producing good X and a comparative
advantage in producing good Y.

C Country T has an absolute advantage in producing good X and a comparative
advantage in producing good Y.

D Country T has an absolute advantage in producing good Y and a comparative
advantage in producing good X.  O/N19/11/21

2 The diagram shows Australia’s terms of trade per quarter from Q2, 2014 to Q1, 2017.

109.7

107.4

terms of

trade 103.5 102 102.9

99.3

% 93.9

92.6

89.9
89.2 87.9

=

Q2 Q3 Q4 o Q2 Q3 Q4 O™ Q2 Q3 Q4 ™
2014 2014 2014 2015 2015 2015 2015 2016 2016 2016 2016 2017

In which period did Australia’s terms of trade decline and then improve?
A Q2, 2014 to Q4, 2014

B Q1, 2015 to Q3, 2015

C Q4, 2015 to Q2, 2016

D Q3, 2016 to Q1, 2017 O/N19/11/23

3 What is not an example of protectionism?

A the European Union (EU) requiring goods imported into member states to meet
safety

standards

B the Pakistan government increasing the rate of goods and services tax, GST, on
some

exported goods from 2% to 5%

C the Nigeria government banning the import of packaged sugar

D the US imposing a 35% tariff on tyres imported from China  O/N19/12/21
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4 The table indicates the factor inputs required to produce wheat and cars in
countries X and Y.

units of factor units of factor
inputs to produce inputs to produce
one tonne of wheat one car
country X 4 2
country Y 8 6

What makes it possible for both countries to benefit from trade?

A Country X has an absolute advantage in wheat and car production.

B Country Y has an absolute advantage in wheat and car production.

C Country Y has a comparative advantage in wheat production.

D Opportunity cost of wheat and car production is the same between countries
O/N19/12/23

5 The diagram shows the effect of a tariff on a product.

A
price domestic supply
P, world supply plus tariff
P |/E :ﬁ\l world supply
| |
I domestic demand
IR _
O guantity
From this diagram, what determines the gain the tariff generates for domestic
producers?

A the price elasticities of domestic supply and demand

B the tariff rate and the price elasticities of both domestic demand and supply
C the tariff rate and the price elasticity of domestic demand

D the tariff rate and the price elasticity of domestic supply O/N19/11/22

6 The European Union consists of a group of countries with free trade between its
members and a

common external tariff on trade with non-members.

What would weaken the operation of this customs union?

A devaluation of any member’s currency

B differences in wage costs between members

C entry tests for seasonal migrant workers

D one member country agreeing a trade deal with a non-member country O/N19/11/23
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7 Industrialised countries X and Y trade with each other. Country X imposes a general
tariff of 20%

on imports from country Y.

In which circumstances would the imposition of the tariff be unfavourable to country
X?

A if country X is seeking to protect its infant industries

B if country X lacks the capacity to produce import substitutes

Cifimports from country Y have been dumped in country X

D if imports of manufactured goods from country Y are price elastic M/J19/11/23

8: A country decides to remove all its tariffs and engage in free international trade
What will be the final decision the country has to make before free trade takes place?
A deciding which resources to allocate to the production of goods and services for
international

trade

B deciding which goods and services should be provided for international trade

C identifying the opportunity costs of production of goods and services which might
be used for

international trade

D setting an appropriate exchange rate for the international trade of goods and
services M/J19/12/22

9 The diagram shows the imposition of an import tariff.
SW is world supply.

SW + tax is world supply after the tariff is imposed.

1 Sdcrl'u:tc

price

Sy + tax

P

i

v

=
o
=

e
=

A
¥
i IO,

0 0192 “ quantity
Which statement is not correct?

A Domestic demand will fall from g4 to g3.

B Imports will change from gl1g4 to q2q93.

C Imports will fall from q4 to g3.

D Supply of domestic goods will increase from gl to 2. M/J19/12/25
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10 The diagram shows the effect of introducing an import quota on the market for
good X.

A
price Sduw'us:c Sdu’l'u = + quota

of X

pCI Tt ___7
p

\ S'ﬂu dd
D

i i domasic _
0 4 G G Gs ]
guantity of X
What is the change in domestic supply and the size of the import quota?
change in size of
domestic supply import quota
il 10z =0z
B 9:9s qiGs
c LR qiGz
D it 29 M/319/13/23

11 Country X joins a customs union with country Y and will remove the tariff on its
imports of good M

from country Y.

Under which conditions will trade creation in country X be the smallest?

existing size of price elasticity
country X's tariff on of demand for
imports of good M good M in country X
il large 08
B large -14
C small D&
D small -14

M/J19/13/24

12 What will definitely lead to an improvement in the terms of trade?
A Export prices fall whilst import prices rise.

B Export prices rise by the same amount as import prices.

C Export prices rise slower than import prices.

D Export prices rise whilst import prices stay the same. F/M19/12/19
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13 In the diagram Sd is the domestic supply of a product, Sw is the world supply and
Dd is the domestic demand for the product

price
(%)
204--—------- .
|
10 — \ S,
/ i D
0 1 T ¥ -
0 4 8 13

quantity (m)

After operating a free trade system the country bans all imports.
What will be the effect on the revenue of domestic producers and world producers of
the ban?

domestic producers | world producers
$m $m
A gain 120 lose 50
B gain 120 lose 90
C gain 160 lose 50
D gain 160 lose 90

. FIM19/12/20

14 Countries M and N produce the world supply of machines and textiles. The table
shows what each country produces when it divides its resources equally between the
two products

machines textiles
country I 1000 500
country N 900 300
total 1900 800

What should happen according to the principle of comparative advantage?

A Country M should produce both machines and textiles.

B Country M should specialise in the production of machines, country N should
specialise in

production of textiles.

C Country M should specialise in the production of textiles, country N should
specialise in

production of machines.

D Country N should produce both machines and textiles F/M19/12/22
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15 Two countries trade with one another without any forms of protection. They also
impose a

common external tariff on the imports from all other countries.

What have these two countries formed?

A a customs union

B a free trade area

C amonetary union
D an economic union F/M19/12/24

16 The table shows the ability of two countries, P and Q, to produce two goods, Y and
Z.

production of good Y | production of good Z
per person per person
country P 1000 1600
country Q 1500 2000

Which statement is correct?

A P has an absolute advantage in Z and Q has a comparative advantage in Y.
B P has an absolute advantage in Z and Q has an absolute advantage in Y.

C P has a comparative advantage in Y and Q has an absolute advantage in Z.
D P has a comparative advantage in Z and Q has an absolute advantage in Y.
O/N18/11/25

17 Which action increases and which action decreases the level of protectionism?

increases protectionism decreases protectionism
A imposing an embargo reducing subsidies to
domestic producers
B | imposing exchange controls lowering quota levels
c introducing voluntary increasing subsidies to
export agreements domestic producers
D removing quotas introducing embargos

18 Country M imposes a tariff on imports of steel.

Which price elasticity values will result in the smallest reduction in steel imports into

O/N18/11/26

M?
rice elasticity of . i
sEpply of domistic price elasticity of
b demand for steel in
steel producers in
country M country M
A 0.2 0.4
B 1.0 0.8
c 1.5 1.0
D 2.0 1.2
O/N18/11/27
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19 Two countries, Northland and Southland, produce two goods, food and drink. The
table shows how many hours each has to use to produce one unit of each product.
After specializing according to comparative advantage, they decide to trade.

food drink

Northland 10 hours 4 hours
Southland 20 hours 12 hours

Which exchange rate will allow both countries to benefit from trade?
A 1 unit of food to 2

1 unit of drink

B 1 unit of food to 1 unit of drink

C 1 unit of food to 2 units of drink

D 1 unit of food to 3 units of drink O/N18/13/25

20 What is a characteristic of a customs union but not of a free trade area?
A acommon external tariff

B a common tariff between member countries

C fixed exchange rates between member countries

D the abolition of all tariffs between member countries O/N18/13/26

21 In the diagram, Dd and Sd represent the domestic demand and supply curves for a
product.

Sw represents world supply of the product when there is free trade, at a world price of
Pw. The

initial domestic market equilibrium level of consumption of the product is at E.

If a tariff of t were to be imposed, world supply would now be represented by Sw +
tariff, at a price

of Pw +1t.
)
X
. Sy
price
P, +t KI :J S, + tariff
| I
Pu iL iM Ni E\ Sw
i i L D,
o Q, Q, Q, Q,
quantity of product
O/N18/13/27
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22 In the diagram, JK is a country’s production possibility curve.
LK is its trading possibility curve which shows possible combinations of good X and

good Y after

specialising in the product in which it has comparative advantage, and then trading

this product

&

¥

The country consumes OR of good X and OT of good Y.
Which quantities of goods X and Y does it produce?

good X good Y|
A JS oT
B 0Ss oT
C RS TK
D Zero OK

SP16/01/26

23 What is the most likely aim of a government that increases the level of tariffs on

imported

manufactured goods?
A afall in interest rates

B afall in the exchange rate
C arise in domestic employment
D arisein the general price level SP16/01/27
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